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NlgsEEs 29 350, 00024 + 122 4,200
NEETIGIETIEINY 15,344,332 1,779,330 13,564,942
SHEXE 15,344,332 1,779,390 13,564,942
SIS 15,344,332 1,779,390 13,564,942
311 X B0l R4 2 837,566 829,390 8.176
04 S B0/ A8 644, 154 644, 154 0
NA+2SE NSHYSY JLS0IHBBK
2) 570,997, 0002 570,997
NRDSIAMY NYHSY JAZ0IXHBBX
2) 73,157,002 73,157
06 JIEFXHR) 201 Rk &f & 193,412 185,236 8.176
DEEEE2 B AENELPIOEE)
193,412,0002 193,412
601 Y2 BHE 14,506, 766 950,000 13,556,766
e R 13,656,766 0 13,656,766
NEYFLIYZ B2 )48
2,356,766,000% 2,356,766
DM BY BXII2 A3 TII48
1,300,000, 0002 1,300,000
06 JIEIZHRIY 2RI A2 850,000 950,000 £100,000
NRCHITYIYS4E 850,000, 0002 850,000
I 3,899,837 4,441,706 A541,869
CEIE 3,899,837 4,441,706 A541,869
R 3,899,837 4,441,706 A541,869
801 0f bl 3,899,837 4,441,706 A541,869
T 3,899,837 4,441,706 A541,869
PEESP R EETEENEIEEIRIES)
3,899,837,000%! 3,899,837
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